

APLICA LAS PROPIEDADES

CONMUTATIVA

$$877 + 83 = \boxed{} + \boxed{} = \boxed{}$$

$$627 \times 25 = \boxed{} \times \boxed{} = \boxed{}$$

ASOCIATIVA

$$(\boxed{} + \boxed{}) + \boxed{} = \boxed{} + \boxed{} = \boxed{}$$

$$60 + 80 + 19 = (\boxed{} + \boxed{}) + \boxed{} = \boxed{} + \boxed{} = \boxed{}$$

Resultado paréntesis

$$(\boxed{} + \boxed{}) + \boxed{} = \boxed{} + \boxed{} = \boxed{}$$

Resultado paréntesis

Resultado paréntesis

$$(\boxed{} \times \boxed{}) \times \boxed{} = \boxed{} \times \boxed{} = \boxed{}$$

$$91 \times 51 \times 28 = (\boxed{} \times \boxed{}) \times \boxed{} = \boxed{} \times \boxed{} = \boxed{}$$

Resultado paréntesis

$$(\boxed{} \times \boxed{}) \times \boxed{} = \boxed{} \times \boxed{} = \boxed{}$$

Resultado paréntesis

$$(\boxed{} \times \boxed{}) \times \boxed{} = \boxed{} \times \boxed{} = \boxed{}$$

Resultado paréntesis

DISTRIBUTIVA

$$6 \times (88 + 36) = 1^a \boxed{} \times \boxed{} = \boxed{} \quad 2^a \boxed{} \times \boxed{} + \boxed{} \times \boxed{} = \boxed{} + \boxed{} = \boxed{}$$

$$76 \times (53 - 51) = 1^a \boxed{} \times \boxed{} = \boxed{} \quad 2^a \boxed{} \times \boxed{} - \boxed{} \times \boxed{} = \boxed{} - \boxed{} = \boxed{}$$